
MFZD – cvičení č. 2 

1. Vypočítejte derivaci následujících funkcí: 

a) 𝑦 = 6 + 𝑥 + 3𝑥2 − sin 𝑥 

b) 𝑓(𝑥) = √𝑥 

c) 𝑓(𝑡) =  𝑡3 sin
𝜋

2
 

d) 𝑓(𝑥) =  
𝑥

𝑒−𝑥 

e) 𝑢 = 2 sin(3𝑥 + 5) 

f) 𝑦(𝑡) = −10 cos(−
1

2
𝑡 − 4) 

g) 𝑓(𝑡) = 𝑎 cos(𝑘𝑡 + 𝑏) 

[a) 1 + 6𝑥 − cos 𝑥, b) 
1

2√𝑥
, c) 3𝑡2, d) 𝑒𝑥(1 + 𝑥), e) 6 cos(3𝑥 + 5), f) −5 sin(−

1

2
𝑡 − 4), g) −𝑎𝑘 sin(𝑘𝑡 + 𝑏)] 

2. Vypočítejte následující integrály: 

a) ∫(3 + 2𝑥 − 4𝑥2+5𝑥6)d𝑥  

b) ∫ 4 sin 𝑡  d𝑡 

c) ∫ cos 2𝑡  d𝑡 

d) ∫ 𝑒2𝑥d𝑥 

c) ∫
sin 2𝑥

3
d𝑥 

f) ∫(1 − 𝑥)d𝑥

6

0

 

g) ∫(8 + 2𝑡 − 𝑡2)d𝑡

4

−2

 

[a) 3𝑥 + 𝑥2 −
4

3
𝑥3+

5

7
𝑥7 + 𝐶, b) −4 cos 𝑡 + 𝐶, c) 

1

2
sin 2𝑡 + 𝐶, d) 

1

2
𝑒2𝑥 + 𝐶, e) −

1

6
cos 2𝑥 + 𝐶, f) −12, g) 36] 

 


